' RIVER VALLEY PRIMARY SCHOOL _ e
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PRIMARY 3
SCIENCE
“ (BOOKLET A)" - :
Name: - "or e - (1) : Date: 03 / 11 /2015
|GClass:P3_" = . Total Tiimefor Booklet A & Booklet 8 : 1 hr 30 mins

-

.INSTRUCTIONS TO CANDIDATES

1. Wnte your name, mdex number and class m the spaoe above

2. Do not tum over thls page until you are told to do so.

3. Foltow all losﬁuchons careful!y

4. Answer all quest(ons

5. For'Se'ction A, shade your answer's_for questions 1.to 15in the. O_ptical
3 o Answer Sheet (OAS) provided. |
| 6 For Sec’uon B, wnte your answers for- questlons 16 to 23 in the space

provnded in the booklet :

7. The total mark&for Booklet Als 30 marks.




_ For each question 1 to 15, four options are gwen One of them is the correct’
answer.-Make your choice (1 2 3 or.4). Shade the oval (1,2, 3 or 4) on the Optlcal

Answer Sheet. -

1. Mary wants to prove that living things need air to be alive.

000

[ holes

water

/holes

food —

¥ ‘
Eolles]
Set-up A lizard

food — * ) %

T ~lizard —C_ @ J E y
) - | SetupD

waler

| Which one of the follovingset-ups should Mary use for her experiment?

(1)
(2)
(3)
(4)

Set-up A
Sét—up B
Set-up C
Set-up D
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- Moterials

X

Leatherwallet L

1- Wooden table

Paper

.Y

..Plastic Bag - -

-Metal Cup

Styrofoam box

‘ .
Which of the following shows the correct headings for X and Y?

1y [

(2)

3)
(4)

Y.

X .
Non - magnetic Magnetic
Breakable Unbreakable
. Made from plants e .. .Made from animals .

- Made from thmgs WhICh were Made from thlngs which were never

once alive

alive

The 'robots below have been grouped according to their characteristics.

Group P _ Group Q

NANENA)

. The robots were grouped accord:ng to the

(1)
(2)
(3)
(4)

number of eyes
number of legs ..
shabe of the head
type of body shape . -
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were

~ Which animal group does the animai-be!ong to? .-
(1) fish |

(2)  birds

“(3) insects -

(4). mammals

5.  Chloe caught two different organisms which can fly. One of them is an insect.
" Which of the followihg characteristics are important to help Chloe identify that itis an
insect? )
A: A head
B : Two eyes
C:Two vvinga_____ L
D:Two anten.n'a.te .
E : Three body parts

(1) AandConly

(2) DandEonly

(3) A, BandConly .

. (4) C,DandEonly S ' ( )
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" 6. - Study the two groups of things shown below.

Which one of the following statements is true?

(1)
(2)
(3)
(4)

cannot.

The things in group Z can grow while the things in group Y cannot. " -
The things in ‘grou{) Z can move while the things in group Y cannot. '
The things in group Y can reproduce while the'things in grbup Z cannot.

The things in group Y can make ité own food while the things in group Z
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7. Study the flowchart below carefully. s

Start

A4 ,
_ Doesithave feathers? | YeS.!  Animal A

NG e
v

Does it have scales? Yes | Animal B

No

N . .
Does it have hair? Yes [ AnimalC

No

v
~ Animal D.

.. Based on the flowchart above; which animal, A, B, C or D best represents a fish?

(1) Animal A
{2) AnimalB
(3) AnimalC

a (4) Animal D

‘8. Which of the following statement(s) about plants is/are correct?

A : Flowering plants produce spores.
' B : Flowering plants.reproduce by seeds.
C : Non-flowering plants do not bear fruits.

- D Non-flowering plants reproduce by seeds.

- (1) AandConly
. (2) BandConiy
(3) AandDonly
(4)  BandDonly
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10.

Identify parts X and Y.
PartX T PartY
(1) “Fruit ' - Roots
. (2) Stem . | Leaf
(3) Leaf ) . Roots
(4) Roots T Frait

Study the pictures shown below.

mould

bread S - bird's nest fem

Which one of the following statements is true?

(1)
@)
3)
@

Both'the mould and the bird's nest fermn reproduce by spdres.

"Both the mould and the bird’s nest fern can make their own food. -

The bird’s nest fern need water to survive but the mould does not.

The bird's nest fem does not need food to survive but the mould needs
food to survive.
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11. The two graphs below shows the height of 2 similar plants, A and B,. over 3 months. Both
plants were placed in the.same locatip__n and watered regularly with the same amount of -

water.

Height of Plant A " Height of Plant B

—> Number of months AI > Number of months

“Based on the graphs above, which one of the following statements is true?

(1) Only Piant A can grow.
- (2) PlantAgrows less than Plant B.
" (3) PlantB receives less sunlight than Plarit A. . |
(4) Plant B can make food but Plant A cannot. - ( )

12. At which stage(s) does/do a mosquito have .td'l.'st'é'\y in water?
O AEggT |
B:larva
C : Pupa
D : Adult

(1) A,BandConly
{2) B,CandDonly
(3) A,BandDonly .
(4) AB/CandDonly ) ( )
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Based on the diagram ébéve, which of the following statements is true? )

(1) Poles B and C are like poles.

(2) Poles A and D.?ﬁfe unfike poles.

(3) Poles F and D will l;epel each other.

- {4) PolesB ‘if:_lnd D will attract each other. ..

Page8of19 .~



Which of the following shadows can be formed by Object Z? °

(1)
@)
3)
)

C

A and.Bonly

C and D only
A, Band C only
A, B, CandD
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Which 6ne_of the following diagrams shows the correct position of the sun?

@ .O_ .
° ,'I . “; -
A o
Shadow - Ohbject
@) Ml
LE
Object Shadow
¥ e,
B
Object
Shadow
~ End of Section A~ . . ---
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RIVER VALLEY PRIMARY SCHOOL

2015 Somestral, Assessment 2
PRIMARY3
. SCIENCE . ...
(BOOKLET B) - )
Name ; T ) ‘Date: 03/ 11 /2015
‘Class : P3 Total Time for Booklét A & Booklet B : 1 fr 30 mips -
INSTRUCTIONS TO CANDIDATES

1. Wnte your name, tndex number and class in the spaoe above

2 Do not turn over this page until you are told fo do s0.

3- -Folluw all_insﬁucﬁons carefully.

4. Answer all quiestions. -

5. For Section A, shade your answers forquestions 1 to15in the Opttcal Answer
Sheet (OAS) provided.
6.:For. Sectlon B, write your answers for ques&ons 16'to 23 in the space provided i in

. the book!et.

7.:The total marks for.Booklet B is 20 marks,

) Booklet—A' 130
BookletB 120
Total 150

Parenf's

slgnature




: Secﬂog B (20 marks)
Writa your answers to questions 1610 23-In this: bookiet, :
16 The plctures belpw shiow the' growth ofa swd into an adult p!ant. l

(a) - Arrange the stages of growth of the seed into an adult

plant in the correct sequence.
im B S

(b) James grew some seeds using dlyooﬁon-wool ‘Fhe seeds did not germinata,
-Explain whythis happened [1m]

Page 11 of 19




(¢} James took 3 plants P, Q and R and removed-parts of each plant
The table below shows the plant parts that were remioved from the three plants,

Plants Parts that wera mmoved }--

R . Fus

- Which-of the: plants will die first? Explain your answer. [

L QT Fewers T e
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17.  Study the pictures below carefully.

Cmeodlle - - -
(@) Give areason why cmoadiles are not-amphibians. [1m]

(b) :B_as'ed on the pictures below, classify the fallowing animals into two groups. [2m]

Frog Crocodlle:
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18. The pictures below shiow the fife cycle of 2 animals.

Life cycle of housefly

Life cycle of grasshopper

(a) Wiite True or False for the each of the statement showiv below. [2m]

(i}

“The houéeﬂy has wings at the adult and pupa stages of s

life.

“The g_ras;lz_epper nymph can move fram piace to place while

-carinot move from place {6 place.

G

The life cycle ofa.cockcaaah has similar number of stages as
the life cycle of the’ grasshopper

el

In the pupa. stage of the life cycle of the housefly, it will
imdergo maoulting.

"{b) Based on the above diagram, what is.the difference between the young of both

animals? [1m]
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19. Study the flowchart below,
. -

Canit maké
its own food?

(8) 'Which of the following living things represent A, B and'G?  ftm]

.. Plant: ... ..
Fungi;
Animal :

(h) Based anthe ﬂow chart which lefter; A, B orG represents amushroom?
Stabe your reasons using the mformatton from the flowehart, [1m]
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20. Sarah shone a torch ata pmg pong ball and a shadow as shown below is fomed

an the screen.

(@) Draw the sefup of Sarah's experiment in the space below. [1m]

Key :

CH<

. Torch

-~

. Streen

Ol

Ping pon_g-bali

(b} Sarah then placed a piece of wood, as shiown below. 1n front of the ping pong. ball
Draw the shiadow which is formed on the screen in the space below. [1m)

Key :

_A piece of wood

10cm
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21. Observe the shadow cast by the object as shown in the diagram below.

object -

shada

(a) -Based on your observation of the shadow, explain the difference in the shadow

-when the object moves further from the light source. {1m]

(b) The diagram below shows a picture of shadow puppets.

Which material (clear plastic or dark-coloured paper) is more suitable for making
the puppets? Explain your answer. [fm]
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22. The dzagmm below shows an expemnent caniedaut by Glenh with 3 magnets
X, YandZ

e r ————- - "x
icmgest distance needed

M oli
toatﬁactpapercﬁp s e(at p L

Glenn moved the magnet slowly towards the metal cli ip and recorded tha longest
distance between the magnet and the metal clip before the metal clip-was attracted
to the magnet. He repeated the experiment with magnets Y and Z and recorded
the'results in the table below,

Magnet | X | Y [ ZzZ |
piswnce‘neadedw“ I - »
attract matal ellp 7 11 4
{em) |

(@) Based on the resulis, which magnetx Y or Zwas the strongest?

Explain your answer, [1m}

(b) When Glenn used a metal dlip of anottier material, the ¢clip was not attracted to the.
magnet. Give a reason for this observation. [1m]
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23:- ‘Kumar conducted an e;q:eﬁmént using the set-up of an electromagnet below,
: béitery -
/I.ﬁ \ -

NDANNANNNANNA \ANNNNANNN

TNV Ry,
AT

copperwire fron nails

Vv

For both set-ups, he used the same type of battery and copper wire. The copper
wires wefe: of the samie length. The number-of colls around Material A and B were-
also the same. However, only B atiracted thie Iron riails,

(a) Based on the observation above, what can he conclude about material A? [1m]

(b} Suggest two ways that will cause matetlal B to aftract more iron naifs. [2m]

)

» .-.mL

~ End of Paper ~
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b) Seeds need air, water and warmth to germinate.

c) Plant P will die first, because the plant cannot absorb any water

and nutrients.

17) a) Crocodile has an outer covering of scales while amphibians has

an outer covering of skin.

b)Reptile

Crocodile

Snake

- “Amphibian - -

Frog

Salamander
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16) a) C>A>B-2>D




C18)a)ilF W)T W)T i)E

b) Based on the above diagram, the young of housefly doesnot
have the same appearance as the houseﬂy while young of. the i
 grasshoppet has the same appedrance as'the grasshopper. =~
19)a)A ,C, B

b) C. Based on the flow chart, C represents a mushroomas
mushroom do not make its own food and do not move from one ‘place
to another on its own.

20)a) o

b)

21) a) When the object moves further from the Ilght source, the object
become smaller and sharper.

b) Dark-coloured paper is more suitable for making the puppets,
because dark-coloured paper is an opaque material so light cannot
pass-through it. . -

22)a} Magnet Y is the strongest magnet, because hagnet Y can attract
the metal clip further magnets X and Z.

b) The material is a non-magnetic material.



23)a) Based on the obsefvétibn, he can '(::'Bnclude material Ais a non-
magnetic material.
b)i) Put more coils.

-.ii)-_Ac.ld- &lgre bétfri'sé. |
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